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Distribution Summary
Distributicon: Hormal
[Expression: NOBM{3.26, 1.89)
Square Error: 0.028073
i(Chi Square Test
Humber of intervals =4
Degrees c? fx_:eedcm f 1
—[—\\ g‘siieggzﬁsiﬁgcp—value ; ;:}JSSUS
\\\ Kolmogorov-Smirnov Test
p X, Teat Statistic = 0.118
// \-\ Corresponding p-value > 0.15
i A; Data Summary
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Distribution Summary

IDistribution: Logrniormal
[Expression: 3 + LOGN(3.75, 2.86)
ISquare Error: 0.001980

IChi Square Iesr.l
Humber of intervals =
Degrees of freedom =
Test Statistic =
Corresponding p—valus < 0.005

[folmogorov-Smirnov Test
Test Statistic =.8.153
Corresponding p-value > 0.15
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Distribution Summarsy
:i'_str:i_bution: Hormal
3sion: NORM(&.38, 1.57)
Square Error:  0.008&59]

Chi Square Test

Number of intervals =2
Degrees of freedom = -1
Test Statistic =314

Corresponding p-value < 0.005
[Eolmogorov-Smirnov Test

Test Statistic = 0.11
Corresponding p-value > 0.15

Data Summary

Murber of Data Points = 20
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11 11 10 1
10 12 9 2
8 13 8 3
9 14 10 4
10 15 6 5
16 16 11 6
13 17 9 7
8 18 10.5 8
14 19 9 9
12 20 15 10

Distributicn Summary

IDistribution: Triangular
[Expression: TRIA{G, 9.28, 16}
Square Error: 0.023578

IChi Square Test

Number of intervals
Degreea of freedom
Test Statistic
Corresponding p-value

A

[Kolmogorov-Smirnov Test
Test Statistic 0.0983
Corresponding p-value > 0.15

Data Summary

INmiber of Data Points = 20
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7 20 4.5 10
Distribution Summary
Distribution: Beta
Expression: 3 £ 7T BETR(0.839, 02791)
Sguare Error: 0.027379
/ IChi Sguare Test
7 Number of intervals =3
| / Degrees of freedom =10
| Test Statistic == 104
\“-a___; __4____r_// Corresponding p-value < 0.005
[Kolmogarov-Smirnov Test
Test Statistic = 0.121

Corresponding p-value > 0.15
Data Summary

Mumber of Data Points = 20
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Entity Number In Number out wip
ATM Customer 47 47 2.02
Carl 41 36 1.99
Car2 25 24 1.73
man 190 183 8.22
Total 303 290
200
180 1
160
140 A
120 1~
100 "i E Mumber In
B _:/ B Mumber Out
60 1 _
a0 ¥
20 +7
v
ATM Carl Car2 man
Customer
(e 4 (839)3 < Entity ("Jff“:"
b B 2955 969959 S Entity slowy Y
Entity Number In Number out
ATM Customer 47 47
Baje 1 62 60
Baje 2 55 54
Baje 3 42 42
Baje 4 22 22
riasat 18 18
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Entity - Average - -

Number Waiting Waiting Time
ATM. Queue 0.65 0.11
Bajel. Queue 0.70 0.09
Baje2. Queue 0.61 0.09
Baje3. Queue 0.33 0.06
Baje4. Queue 0.14 0.05
Hold1. Queue 0.05 0.03
Riasat. Queue 0 0

0.7

06 A

05 A

04 A

B Wating Time
03 A1
B Number Wating
0.2 1
0.1 A1 '
‘ e ;
T T T T T T 1

ATM. Bajel.

Baje2. Baje3. Bajed.

Hold1l. Riasat.

Queue Queue Queue Queue Queue Queue Queue
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Entity e . Average = -
Wait time per entity Total time per entity
ATM 0.111 0.215
Bajel 0.091 0.220
Baje2 0.087 0.220
Baje3 0.063 0.198
Bajed 0.052 0.180
Riasat 0 0.045

02 4

01 1

005 17

M total time per entity

M wait time per entity

ATM

Bajel Baje2 Baje3 Bajed Riasat
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